Exercise 3.6 (Solutions)rageiss
Calculus and Analvtic Geometrv, MATHEMATICS 12

Definite Integral
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Evaluate the following definite integrals:
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Question # 8
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Question # 10
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Solution
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Question # 18
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Question # 21
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5
I|x—3‘dx



Solution
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Question # 24
3.2 x—1
J~x zdx T
x+1 x+1)x =2
1
2
Solution _Xtx
—x—2
2 —-x-1
=2 i
x+1 -1

Il
—_e D e ) = —
[§9)

=

I

[a—

|
+‘
—_
Nce e

NN

=

=|Z-| —lx];-|m]x+1])]

1

32 12
:(7—3]—(3—1)—(ln|3+1|—1n|1+1|)

9 1

:(E‘Ej‘(z)‘(m“_l“ 2)

4

=4-2-In3 =2-In2

Question # 25

j 3x2 —2x+1

> (x—l)(x2 +1)
Solution
3x% —2x+1

T

3
2
=ln‘33 _3? +3—1‘—ln’ 2 g8 +2—1‘

=In|27-9+3-1|-In|8—4+2-1]
20

=In20-1In5 =ln? =ln4




FSc-11 / Ex- 3.6 - 8

Question # 26
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Now same as Question # 24

Question # 28
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Solution
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Question # 29
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Put t=sinx = dt=cosxdx
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1 :é+ B
1(2+1) t 2+t
= 1=A(2+1)+Bt ...... (1)
Put =0 in (i)
1=A2+0)+B0) = 1=24 = Azé
Put 2+r=0= r=-2 ineq. (1)
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Question # 30

T
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Let ]= sin xdx
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Put t=cosx = dr=-sinxdx
= —dr=sinxdx
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Now consider
1 _ A N B
(1+2)(2+1) 1+t 241
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Put 1+r=0 = r=-11in (1)
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